A 2 o & A

Al A

025 20il&t &f - St AIHISESIA &H
FA: Aot AIE A
HH: MGl A
CH9l: AT AIE (A - BT A SEEIH) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 33,462,563 45,478,817 A12,016,254
= 8,869,000
[ 5,000,000
= 6,837,086
Ea 12,756,477
oot Ad 24,687,296 37,418,041 A12,730,745
= 8,869,000
[ 5,000,000
= 6,837,086
= 3,981,210
AT AIE(Y - SIEZAISESA) 13,095,724 8,906,555 4,189,169
= 5,000,000
[ 5,762,286
T 2,333,438
A== AlE 18,438 21,335 A2,897
201 er2 3| 10,138 11,415 Av,217
01 At2t2lt] 2,8% 3,672 NTTT
Na=EAIE FRFE OHA
9, 00021452 +513] 2,2%
NASEAE NPBETY
50,000& * 122 600
02 s3=gHl 7,243 7,743 A500
DX | 2el 100,000& =10 1,000
It A=
1,506 *212|*1CH*522 | & 1,743
NEA 222/l 4,500,000& 4,500
202 04| 6,300 7,920 1,620
01 2K 6,300 7,920 1,620
Na=CAE R U0
60,0002 x5 »213] 6,300
203 HR=&H] 2,000 2,000
03 Al =X =ZIY| 2,000 2,000
NEOIS U oaEE HE
2,000,000& 2,000
=T AEXE 50,000 22,000 28,000
401 AIEHIX 20HH 50,000 22,000 28,000
01 A28l 50,000 22,000 28,000
OIS SA-SB2 ASTE 0IETA
50,000,000 50,000
CENASRINE(EX) 7,848,000 6,691,520 1,156,480
= 5,000,000
=S 1,248,000
s 1,600,000
401 Al HIZ R 0HbI 7,848,000 6,691,520 1,156,480




FA: Aot AIE A
HH: MGl A
TR AT AIE (A - St AIHSESIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,000,000
=S 1,248,000
s 1,600,000
01 Al 6,248,000 5,200,000 1,048,000
N ML= ALS 6,248,000,000& 6,248,000
[ 5,000,000
= 1,248,000
02 Zeltl 1,500,000 1,461,500 38,500
NEMARONL AN 22/l
1,500,000,000& 1,500,000
03 AIZ S THYI 100,000 30,020 69,980
NEMA =N A 100,000,000 100,000
AMEENRES(HEAY) 5,179,286 2,171,700 3,007,586
< 4,514,286
[Ea 665,000
401 Al HIZL S 0HYI 5,179,286 2,171,700 3,007,586
S 4,514,286
= 665,000
01 Al&H| 4,514,286 1,526,900 2,987,386
NA>HEXM>XES 4,514,286,000& 4,514,286
= 4,514,286
02 2l 650,000 631,000 19,000
[DEAERSEEYSENE 5 650,000,000 650,000
03 Al 2CHYI 15,000 13,800 1,200
[DEAERSEEYSENES = 15,000,000 15,000
St A (Y - St=ZAIESESIA) 11,591,572 28,511,486 216,919,914
= 8,869,000
= 1,074,800
= 1,647,772
ot= Al 2,772 2,772
201 er2 3| 1,512 1,512
01 AtR2telHl 1,512 1,512
1)ot=C Al OHAHI
8,000 32 »383] 912
1Not=ZAlE ARSS2YI
50,000& * 122 600
202 04l 1,260 1,260
01 2LHoIH 1,260 1,260
1Not=CAE R LI
60,0003 3 +73] 1,260
SN FsHENSSSHEI(EX) 1,370,000 1,896,400 526,400
= 900,000
= 133,000




FA: Aot AIE A
HH: MGl AA
Sl BIATAIA(A - BHAEAIL S| H) (12l M2
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
[Ea 337,000
401 AlEHIZ S OHbI 1,370,000 1,896,400 526,400
= 900,000
= 133,000
= 337,000
01 AlZH| 1,365,000 1,896,400 531,400
NEx XNGXF sHEOISo+E FHl
1,365,000,000% 1,365,000
= 900,000
= 133,000
= 332,000
03 Al =2 0HHI 5,000 0 5,000
NEx XNGXF sHEDISE FHl
5,000,000& 5,000
HI2&XIXRAsHENSO=EEHI(EX) 4,168,000 1,632,000 2,536,000
= 2,773,000
= 420,000
o 975,000
401 Al HIZ S OHbI 4,168,000 1,632,000 2,536,000
= 2,773,000
= 420,000
[Ea 975,000
01 AlZH| 3,942,000 1,145,743 2,796,257
NHIS SXIXF sHELNSoE FHIALY
3,942,000,000& 3,942,000
= 2,773,000
= 420,000
o 749,000
02 Zeltl 221,000 486,257 N265,257
NHIZ SXXF sHEDISSs=E ZHIAY
221,000,000 221,000
03 A& CHYI 5,000 0 5,000
NHIZ &XIXF sHEDNSoteE FHIAY
5,000,000& 5,000
MBI 2sHEOSSI=EFBI(EX) 1,374,000 1,606,000 /232,000
= 1,369,000
Ea 5,000
401 AlZHIZ S 0HHI 1,374,000 1,606,000 232,000
= 1,369,000
s 5,000
01 AlZHI 1,369,000 1,606,000 237,000
NEA WX SHEDISTHE FHIALY
1,369,000,000& 1,369,000
= 1,369,000




FA: Aot AIE A
HH: MGl AA
Sl BIATAIA(A - BHAEAIL S| H) (12l M2
RA - BB - (S - MSAES ofl &t e DS
03 Al 20HHI 5,000 0 5,000
NEA WA sHEDIScot=E FHIAL
5,000,000 5,000
NERSXAsHENS+=SEHEI(EX) 1,230,000 1,020,200 209,800
= 1,227,000
s 3,000
401 AIEHIZ SR THYI 1,230,000 1,020,200 209,800
= 1,227,000
[Ea 3,000
01 A<l 1,227,000 1,020,200 206,800
DAE HEXT SHE0SE+E FHIAL
1,227,000,000& 1,227,000
= 1,227,000
03 A& S CHYI 3,000 0 3,000
DAE HEXT SHE0SE+E FHIAL
3,000,000& 3,000
LOMENM X R sHEDISOI-=EFHI(EX) 2,446,800 686,000 1,760,800
= 2,000,000
[ 441,800
T 5,000
401 Al HIZL 201 2,446,800 686,000 1,760,800
= 2,000,000
== 441,800
o 5,000
01 A&l 2,441,800 685,000 1,756,800
Aol AEIAXIT SOEDSEEE HHlA
& 2,441,800,000& 2,441,800
= 2,000,000
s 441,800
03 Al =2 0HHI 5,000 1,000 4,000
NSl ATHMXIT SOHEDISE+E FHlA
& 5,000,000 5,000
ORI RSt H I AIE EXI (B X) 500,000 0 500,000
= 300,000
= 40,000
Ea 160,000
401 Al HIZ S 0HbI 500,000 0 500,000
= 300,000
= 40,000
= 160,000
01 AlZH| 497,000 0 497,000
1)QHAtHEHRI Gt =X 2 Al E & X
497,000,000 497,000
= 300,000




FA: Aot AIE A
HH: MGl AA
TRl BT AIE (4 - BT A SEE|H) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 40,000
s 157,000
03 Al 2 0HHI 3,000 0 3,000
1R HRAG =K CIAIZ LR
3,000,000 3,000
LEHH SRSt HIAIE EXI(EX) 500,000 0 500,000
= 300,000
= 40,000
Ea 160,000
401 AIZHIX R0 500,000 0 500,000
2 300,000
= 40,000
= 160,000
01 Al&HI 497,000 0 497,000
1SEHHERG=HCIAIE LR
497,000,000 497,000
= 300,000
= 40,000
= 157,000
03 A2 THYI 3,000 0 3,000
NEHHSRAG =X 2 AL E X
3,000,000 3,000
oot A2t 8,684,715 7,813,499 871,216
AT e|(Y - SHZAISES) 6,391,871 5,428,389 963,482
a2 48,972 52,560 A3,588
101 @124H| 2,640 0 2,640
M IRINZZENSES 2,640 0 2,640
NAgasE = 225 IUHNBI(EIZ,
=4 110,000 x2&* 122 2,640
201 etz 3| 2,352 2,280 72
01 At 2|l 2,352 2,280 72
Nate=Z2te| GRFX A
9,000 »4 & ~423] 1,512
Na=C22| ARES P2
70,000 * 122 840
202 04t 43,980 50,280 26,300
01 =LHNHI 43,980 50,280 26,300
NatsE e GRF2 20
16,500,000& 16,500
Nats=2te| GRF8 SRA I
2,400,000 2,400
NAgasE & 22X IHABI(SXE
=T 2 10002)
110,000 x18F « 12 23,760




2A: ASt=ZAIE A
e e Tl
CHel: ARCRR(4 - ST AIRISEEH) (crol: @ 2)
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
1N0ISAEE 4% 221 2HHEI(EEA
32 oH=E 3} 110,000& 1 x 128 1,320
MECR2AH 1,937,990 1,982,360 N44 370
201 LBt AH| 750,935 787,305 N36,370
01 AtR2t2lb| 487,385 504,325 A 16,940
EEIE B
59,600 * 1300 A+ 122 9,298
1)2D| =&A
532,200 * 130 A +4E 27,675
12 B A
33, 1002 x 1304 A +523] 22,376
1)82t =& HA
364, 2002 x 130 % 128 56,816
21,6003 130 A+ 128 3,370
H DLIHE 2HA}
62,5002 134 A4 3,250
M =& At
42 000& *500H 2~ 2,100
Nalx=E 29 EAL S|
6,600,000& 6,600
N4ESBIIRIRE B4 22
70,000& x6H x 13| 420
DX A%E 2 1A L=y
60,000 *112H %119 78,540
1)UAXE AT 2] 1A =ZEH|
60,0002 *x11H*x365L 240,900
NESIT I244+E LHY|
60,000& 12 %119 7,140
NETIT DI2a4E =2
60,000 *1H x365 21,900
NATEH(SHT, ME S) ZH 7Y
7,000,000 =14 7,000
02 B2324| 263,550 282,980 A 19,430
NaE Mg E312
40,000& *13CH*12& 6,240
NaxE 29 MII2 150,000,000& 150,000
1)AEE DItE D12
450,000& 130 2+ 128 70,200
NASERUEA BREHEE 2
100,000& 130 A1 1,300
1)et=24t6le=C &3]
1,310,000& 13| 1,310
1NED|OHE R CHEH =42
14,000,000& 14,000
NEi2=X Lo1HH| £2x=2 (X%, 2o, =)
100,000 *30 A x 128 3,600




A Aote=EAIE A
e e Tl
ool ACRR[(4 - SIS AIESEEIH) (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Na=E 2e|AL H24|
1,000,000& * 1370 2 13,000
DA Z2|AF SRl
300,000 =139 2 3,900
202 04d| 24,800 28,800 24,000
01 =W0dbI 24,800 28,800 24,000
Na=E YUE A2ZARIZ Ol
24,800,000& 24,800
206 =8l 1,162,255 1,166,255 24,000
01 M=l 1,162,255 1,166,255 24,000
NAZLME M+ 2o
1,500 * 15000 * 1000 2 2,250
DaZAME Al Pl
45,0003 =139 2 585
NA%E ASS KHE7Y
27,000,000& 27,000
DAFLOHE] BIASE 2
100,000& * 1370 2 1,300
NEEY BANSE 252 23
4333 +7,100&E+365 1,122,120
NS0 2
50,0003 *9IH* 100K A 4,500
Na+=C I, 25 <
450,000 * 1000 2 4,500
e = 117,240 122,400 A5, 160
201 B2 AY| 117,240 122,400 A5, 160
01 At 22|l 17,000 18,000 21,000
NAGEE 22 2 DXAM 2
8,000,000& 8,000
N2 &8 dX= 700,000& 123 8,400
Nes =] 22l
200,0002 3+ 1CH 600
02 S=29| 100,240 104,400 24,160
NaoleE 2 T2 KB4
920,000& =123 11,040
NIIAAHTMEIA 282X 0l22
350,000 <122 4,200
NA6EE RIIAAN 2B
85,000,000& 85,000
a=C A 222 817,550 832,350 A 14,800
101 @124l 167,550 127,350 40,200
M IIRNZ2EXsSEs 167,550 127,350 40,200
DOHIA EH| 12
63,600,000& 1 63,600
D= Jyl oFY 17,550,000& 17,550
Na=E AE LA, HIZ, 23, o)
86,400,000& 86,400




S ABIRE AR
e e Tl
ool ACRR[(4 - SIS AIESEEIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 650,000 705,000 55,000
01 Al&H| 650,000 705,000 /55,000
NOHUAES K7 170,000,000 170,000
1OIDHAE EDIWX S At
70,000,000 70,000
NHEFESH L JDIANEES
100,000,000 100,000
Nas+E ANES 2(ES3, 8N, g
A S) 90,000,000& 90,000
NeaB W ¥ S 23274
150,000,000 150,000
NA%E HaX HAB
70,000,000 70,000
arRas 2 575,319 565,319 10,000
201 er23 | 410,719 398,719 12,000
01 At2teltl 26,719 30,719 24,000
NARDASE 24 BOIZA
4,128,000& 4,128
NARRASE [ HEHA
4,721,000 4,721
NARRasE = 2I1ZAM
9,126,000& 9,126
NAFDASE Ha o12H1A
8,744,000& 8,744
02 S3=gHl 384,000 368,000 16,000
NaRnLasE Sl =8
12,000,000 x3271 2=+ 13 384,000
206 M=Hl 34,600 36,600 A2,000
01 MHZH| 34,600 36,600 /2,000
NATSAAT ASHE 79(RHY)
50,0003 #3404 A 5,100
NARDASE HULE 79
29,500,000 29,500
401 AIEHIZ SR THYI 130,000 130,000
01 AlZ8| 130,000 130,000
NARDASE 2327
130,000,000 130,000
of=g&a=3t2tel 588,600 455,400 133,200
201 er23| 273,600 266,400 7,200
2 35234l 273,600 266,400 7,200
Noll=EstAlE &2
150,000,000 150,000
NaRLasE JIIe3
500,000& 13 A+ 12 78,000
NEZ1? g3t HIIRS
45,600,000 45,600




SN Yot A A
. Yot E i
CHO: AICER| (A - OIREAIYSE S| H) (12l M2
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
401 Al HIZL 2018 315,000 189,000 126,000
01 A=l 315,000 189,000 126,000
Noll=E==stAlE 2 Wi
315,000,000 315,000
SNARIONLX & 2,196,200 1,220,000 976,200
401 AIEHIZL SR OHYI 2,196,200 1,220,000 976,200
01 AlZHI 2,196,200 1,220,000 976,200
NXgaE HUKMMAEH AIEE B
150,000,000 150,000
NEC1? H=EF3tAIE HA L &X
1,600,000,000& 1,600,000
NHIZ BAFAT 2olOIHEE M
=Ml 370,000,000& 370,000
DXYAE SUSAIY A=EAAE S
zoE 2 ALY B
2,200,000& 2,200
Nat+=E2UAIL ST 2AeHE 8 AL
H =4 22,000,000 22,000
NXIS RG22l 8 =8 AAIZ 84
22,000,000& 22,000
DXIYAE orMzte| AAEH 2
30,000,000 30,000
ST AESTELUANES 110,000 198,000 A838,000
401 Al HIZL 201 110,000 198,000 A838,000
01 Al&H| 110,000 198,000 88,000
Nat+E AldE FUAHEEFEH Y
22,000,000 & %504 2~ 110,000
St (4 - St=Z A SE3IA) 1,842,014 2,205,010 A362,99%
ot== 2| 41,972 48,276 6,304
201 2= 3,392 4,056 A664
01 AFS2t2ltl 3,392 4,056 A664
1ot 2ol LFE A
2,432,000 2,432
1)ot=E 22 AREE P2
960,000 960
202 04| 38,580 44,220 25,640
01 2L AL 33,300 38,940 Ab,640
1ot 2te| RF2 20
60,0003 7 *653] 27,300
Not=EZAES2e 32 I
60,0003 »5& »202] 6,000
02 A0 5,280 5,280 0
Not=HMel& 2tel UM
220,000 x2F 122 5,280
ot=SEXCIAlE 2tel 1,166,063 1,580,780 A4, 717
101 e124d| 35,760 5,760 30,000




A Aote=EAIE A
M AT AR B
CHOl: Sl C BRI (A - SIEEAISE S| ) (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
M IIRHNZ2Z2XSEs 35,760 5,760 30,000
1N330ot=HelAE AIEE JU| LAIAIE
2 180,000 *8Z *23| x2JH A 5,760
1)S3ot=HelAE 224 21244|
30,000,000 *1Z 30,000
201 B2 AL| 582,580 567,540 15,040
01 ArR22lt| 286,020 291,400 5,380
Not=ZSLHelE A22 UM 2
5,000,000& 5,000
1)ot=E SESAIA HE WsH|
3,840,000& 3,840
Na3ot=HeAE 29 EE e
300,000 x2JH 2 600
NeExSHA /AR
110,000,000& 110,000
DR, Yol 2EMS SX S+ 248
43,000,000 204 & 86,000
DS S FCBA =28 S(HEAIE)
5,000,000& *13] 5,000
el Ea LAY
60,0003 2% x119 14,280
1ol Ea =AY
60,0002 x2Z *3652 43,800
N33otHelAA 22l BAR oS
6,000,000& 6,000
Not=HelAlE EHHeA=HY|
5,000,000& »23l 10,000
1N330ot=HelAE 2R S+HL A
100,000 15 *13] 1,500
02 S=29| 296,560 276,140 20,420
Not=ELH2E HMA3US
10,000,000 10,000
DNot=SLH2E &I AES
200,000,000& 200,000
1)E36t=KHelAld KT =3
38,400,000 38,400
NH|AEXI| AZ2H| 1,500,000& 1,500
NE2IAL 248 RX B4l
500,000 x2JH 2~ 1,000
NS XS24 500,000 *4CH 2,000
NEAEXSY A= 4,320,000 4,320
nasxy oyl 150,000 *2CH 300
net=24aots=C 83lHI(H13])
1,640,000& 1,640
Not=SLH2IE L BT E MI|oHM 2
2l CHEEHI (500 &)
390,000 x50 123 23,400




A Aote=EAIE A
M MotATAEBL
Rl S22l (& - St AL SESIH) (G2 &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Not=SLX2IAE DIEXI|ILEHl EI1E
A === 500,000 *23| 1,000
Dot=RNHI| E2TA =28
3,000,000 *47H 2~ 12,000
Dot & 2ELHM2AE SEYdH S
= 50,000 42| x5 2~ 1,000
206 =8| 57,152 56,480 672
01 M=l 57,152 56,480 672
DEtZLHIZ MBI AlSF L I T
2 43,952,000 43,952
N2 WS s3I A28 2L
5,000,000& »x23| 10,000
NUES2 BAEY B5&2 2 (Kol
LKL E4 800,000 x4H 2~ 3,200
401 AlEHIZ 200 490,571 549,000 A58,429
01 Al&Hl 490,571 549,000 A58,429
Dot ML (20HA) SSE+HI
90,000,000 90,000
1)ot=HelAE (40N E28
90,000,000& 90,000
1)ot=H2lAE(400Ha) =5 ol22 B
200,000,000& 200,000
DAY 288 BIES
2,000,000 *4JH 2 8,000
N33ot=HMelAlA JI=REHI(SA4H
80,571,000 *1JH 2 80,571
N33t HMelAlE FUSKHMBAH| (S, 2
olf) 11,000,000 x2J4 2~ 22,000
Ot=ot=xelAld2tel 405,520 415,554 210,034
101 el t| 7,920 7,920 0
M I1RINZ2Z2XSE+ 7,920 7,920 0
1OIS6t=H2IAIE AIE2 LAIAE IR
110,000 2 *367H A 7,920
201 B2 AY| 126,800 126,800
01 ArR22ltl 1,800 1,800
1OISot=HelAE AR M 72
50,0002 *369H 2~ 1,800
02 324l 125,000 125,000 0
N0tSalHMelAE ®I| 23
120,000,000& 120,000
NEAEXY & 2,000,000 *1CH 2,000
nasig A=yl 2,000,000 *1CH 2,000
NS XS24
1,000,000 *1CH 1,000
401 AIEHIZ 2018 270,800 280,834 210,034
01 AlEHI 270,800 280,834 A 10,034




FA: Aot AIE A
B AplAc ez
Rl BIATREI(A - SIEZAI S S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1)0tS8t=HM el A E (360H4) SS2=+H
90,000,000& 90,000
1)0ISst=HelAlE JIsdet(3te, 84,2
=) 60,000,000& 60,000
1N0ISot=HelAlE 22 IS (3 2
7H2) 120,800,000 120,800
a2 228,459 160,400 68,059
101 @124H| 1,500 1,500 0
M OIRINZZE2NSE S 1,500 1,500 0
1)QIAH| JIZEMZ2Z2X LAIAS AR (S 4
100,000 #5701 A+3H 1,500
201 fer= 3| 85,500 88,900 A3,400
01 AtR2tc|HI 23,640 20,200 3,440
NEES EsAas & X X2
17,800,000& 17,800
NESE 2| MMZE2OHM FAE4H|
370,000& 122 4,440
N2 dX2IAE ARETHFY
1,000,000& 1,000
NEL2EXE ISiE A =22
40,0002 x5CH*23] 400
2 35244l 61,860 68,700 26,840
NEL2NY FRUH(—ER)
21,600,000& 21,600
Nk 28 & cd2 29,160,000 29,160
NEL2EXE RXIE4H
10,800,000& 10,800
NEL2EXNE MA3US & A2
300,000 300
301 EtE N = 70,000 70,000
14 DBt 2 a=S 70,000 70,000
N2k 328 & XMele=+2 N3
70,000,000 70,000
401 Al HIZ S 0HHI 71,459 71,459
01 AlZ8| 71,459 71,459
Nk XA S
10,000,000 10,000
NEaXelAld I8 (&4
38,920,000 * 100 2 38,920
NESXMEIAIE o5 JI=TCH| (S
22,539,000 * 11 £ 22,539
SRAUMGI=Z2R (Y - St=ZAIESEEIH) 450,830 180,100 270,730
SRdaote= a2l 158,630 100, 100 58,530
101 e124d| 68,680 18,360 50,320
M ORINZZ2NSE S 68,680 18,360 50,320
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